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Please read these sentences.

Extreme reading/caught writing

Can MM underline the nouns and

circle the verhs?
|. Walking to schosl
zmen*dm*, Jezepzs Mou Fit and
healthy.
2. My friends help me enjoy

my le&time& at school.

In litzram% wWe are lza!ninﬁd
S leln Llﬁt TﬂPiL ,Clb,OMt hamaphﬁnz/s. ThZ/SZ are
Children will he tested
. /\/\xmdmj 185 Tuna This week we will be words that sound the same but
These are examples mﬂkinq /Puc,atinx% Lfﬂ/ﬁt/s. hae di/ﬁfﬂznt /SP‘Q““”}/S and
D/F homophanz Plzﬁusg con A(ATDM bfinq mzanina{ré. Can MOM write three
vy inbo ,sghggl s man senfences M/sinq the
e t Jnamﬁphﬁn,e/s there, their and
AOME hottle lide as MOM LN ,
M thzk& re. EﬂLh /S,Qﬂt,QﬂLZ ﬂZZ,d/S
here ﬂnd ﬂnkﬂ( /Smﬂ“ twj"ag’s ﬂnd to contain one a/f these
h;ﬂf slicks MOM Can collect? hgmgph,gn,e/s to show YoM
ww;!j Y oM can also brinq and understand how it should he
aloud ohd chean AD“iPDP abicks waed in a sentence.
ﬁ“xjw,ed
[. 15+20-=
Maths Once we know our times—tahles we also know 2. k5 +20=
the related division /Fxmt/s. T est %DMI/SZMF. how many 3. 65+20=
do MOM krnow? See how %mckw MOM LON write the L. 85+20=
LOYrect answers. 5+5= 1Of10: S. 105+20=
240 = 10:5= ggfigf 6. 125+20=
4+2= 15+5= _ _ Cnp)\é and anplztz these
6+2= 20+5= 40+10=
80— 25:E— 50f10: AMMA inko MoMY hook
10+2= 30+5= 60+10= nzatb\é.
70+10=
1272 g 80+10=
16+=2= 45+-5= )
18+2= 50+5= 100+10= Class Newsletter
22+0= 60+5= T Please use this slip to
24+2= comment on homework

Homework enjoyed
most was:




